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Sub-Section Id : 873265202
Question Shuffling Allowed : No

Question Id : 8732655135 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Our present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Aristotle. who said that the
natural state of a body was to be at rest and that 1t moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one, because it would have a greater pull towards the
earth.

The Aristotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It 1s said
that Galileo demonstrated that Aristotle’s belief was false by dropping
weights from the leaning tower of Pisa. The story is almost certanly
untrue, but Galileo did do something equivalent: he rolled balls of
different weights down a smooth slope. The situation 1s similar to that of
heavy bodies falling vertically. but it 1s easier to observe because the
speeds are smaller. Galileo’s measurements indicated that each body
increased its speed at the same rate. no matter what its weight. For
example, if you let go off a ball on a slope that drops by one meter for
every ten meters you go along, the ball will be travelling down the slope
at a speed of about one meter per second after one second, two meters
per second after two seconds. and so on. however heavy the ball. Of
course a lead weight would fall faster than a feather. but that is only
because a feather is slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights, they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732655136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset 1dea of motion dates back to ?

Options :
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Aristotle

1. ®

, » Plato

Copernicus
3. %

Galileo
=4

Question Number : 2 Question Id : 8732655137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by ?

Options :
Logic
1. %

Thought
2. ¢

Faith

3. ®

Observation

Question Number : 3 Question Id : 8732655138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following falls down faster?
Options :

Feather

about:blank 3/94
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9 % Bﬂll

Nothing
3%

Lead

4.

Question Number : 4 Question Id : 8732655139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the word i the passage which means ‘opposition’?
Options :

Logic
23 _

Thought
2. %

Faith

3. %

L Resistance

Question Number : 5 Question Id : 8732655140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the antonym for ‘equivalent’ in the passage
Options :

Identical

1. %

Similar
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Different
3. ¢

. Opposite

4.

Sub-Section Number : 2
Sub-Section Id : 873265203
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732655141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The match by the time we reached the stadmum.

Options :

had started
1.

was starting

2. %
) would have started
3.
started
4. %

Question Number : 7 Question Id : 8732655142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
My mobile phone 1s stolen (Choose the correct Active Voice)
Options :
Some steals my mobile phone.

1. #

Someone has stolen my mobile phone
2. ¢
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A thief has stolen my mobile phone

My mobile phone is stolen by someone.

Question Number : 8 Question Id : 8732655143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

. %
I advised my friend to stop smoking
2.
I told my friend that smoking 1s injurious to health
3. %
I requested my friend not to smoke
4. %

Question Number : 9 Question Id : 8732655144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was 1gnorant. She admitted 1t. (Combine these two sentences imto
one Simple Sentence)

Options :

She was 1gnorant but he admitted it
1. %

Being ignorant, she admitted it
2. %

about:blank 6/94
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Despite her ignorance, she admitted it
3. %

She admitted her ignorance
4.

Question Number : 10 Question Id : 8732655145 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :

Options :

One of the boys are making lot of noise in the class.

1. %
Furnitures are properly arranged i the hall.
2. %
He is too weak to walk
3.¢
I could not be able to get through the examination inspite of my
hard work.
4. %

Question Number : 11 Question Id : 8732655146 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:

She has got lovely gold bangles her arm

Options :

n

about:blank 7/94
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011
3.¢

at

Question Number : 12 Question Id : 8732655147 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :
Past simple

1. ¥

Present contmuous

Past continuous

Present perfect contmuous
4.9

Question Number : 13 Question Id : 8732655148 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :
Playwright
1.¢
Playright
2. %

about:blank 8/94
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Playwrite

Playerite
4. %

Question Number : 14 Question Id : 8732655149 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian. she doesn’t eat meat.
Options :

She 1s vegetarian; she does not eat meat

1.¢
She. a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3. %
She is vegetarian....not eat meat.
4. %

Question Number : 15 Question Id : 8732655150 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :

Ramya said, “T want to go to Canada next year”.
1. ¢

about:blank 9/94



6/13/24, 11:46 AM about:blank

Ramya says, “T want to go to Canada next year”.

2. %
) Ramya said, she wishes “to go to Canada next year”.
3.
Ramya says, “I wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732655151 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the synonym for the word ‘Synonym’?
Options :

Supremacist

Opposite

2. %

Simular
3.9

Infinitude

Question Number : 17 Question Id : 8732655152 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days

about:blank 10/94
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She said she 1s going away for a few days

2. %
) She said that she was going away for a few days
3' i
She said that she i1s going away for a few days
4. %

Question Number : 18 Question Id : 8732655153 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. ®

Her hair 1s grown
2.¢

Her hair are grown
3%

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732655154 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
He tried to kill the snake, 1t went nto the anthill.
Options :

mstead

for
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still

3. ®

however
4.

Question Number : 20 Question Id : 8732655155 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He crossed Indian ocean twice.

Options :

the
R4

daln

zero article

Question Number : 21 Question Id : 8732655156 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?

Options :

Ranadhir 1s going to arrive tomorrow

1. %
Ranadhir will have arrive tomorrow
2. %
Ranadhir will arrive tomorrow
3. ¢

about:blank 12/94
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Ranadhir will be arrive tomorrow

Question Number : 22 Question Id : 8732655157 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter insisted helping us with baggages.
1. %

The porter insisted to help us with our baggage.
2. %

. The porter insisted to carry a baggage.
3.

L The porter insisted on helping us with our baggage.

about:blank 13/94



6/13/24, 11:46 AM about:blank

Question Number : 23 Question Id : 8732655158 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which sentence 1s the Article “an” used correctly.
Options :

He eams an about thousand rupees a month.

Shakespeare 1s an renowned dramatist .

I had never visited an hospital before.
3. %

He has been here about an hour.
4.

Question Number : 24 Question Id : 8732655159 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :

A kite 1s being made by the boy.
1%

She was admired very much by him.

English 1s spoken (by people) in many countries.

v Somebody set the huts on fire.

Question Number : 25 Question Id : 8732655160 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 14/94
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One word Substitutes.

A thing occurring again and again for a long time

Options :
anachronism
1.
expatriate
chronic
3.9
coincident
4, #
General Knowledge
Section Id : 873265169
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265204
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 8732655161 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate
Tribunal?

2024 3 & GST 0B (BaxdS (228esm A8 dchobarrds?

Options :

Justice (Retd) K.G.Bala Krishnan
2% (885) 8.2.270 (888

1. %

about:blank 15/94
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3.¢

Question Number : 27 Question Id : 8732655162 Question Type : MCQ Option Shuffling : No Display

Justice Surva kant

220 ‘foriﬁésﬁcg
2

Justice (Retd) Sanjaya Kumar Misra
2% (888) Jomacdh H&rs M@

Justice A.S.Bopanna
220 .00 8558
&

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The scientists discovered the deepest “Taam Ja” blue hole near which

country

TS 78K o ' ap S K O B¥ $HBos® EHFTG?

Options :
Mexico
3:%{355
Brazil

2. SR

Peru

s Flet

Chile
29
4. ®

Question Number : 28 Question Id : 8732655163 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

about:blank
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Which Delhi Sultan was known as “Prince of Monevers™?
“@8) 85 2AHE)” ° Do 288 EDHerS AHBH?
Options :
Alauddin Khalj
@E;;a@)iéﬁ @g

Firoz shah Tughluq
$8°E ap &S

Balban
a:ﬂegs

Muhammad bin Tugluq

éaa’ava’:aéE 55 HKE
4.« e

Question Number : 29 Question Id : 8732655164 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Gandhij1 withdrew the non-cooperation movement because of
mobd 1% Jorddes &l & s8monr DoTE.
Options :
Chauri-Chaura incident
| v oo Jozhed

Jallianwala Bagh massacre

2203%8 TPerzh ﬁaoésﬂocs

Gandhi-Irwin Pact

- mof-ads afodo
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Poona Pact

P oo
4. %

Question Number : 30 Question Id : 8732655165 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not the work of Rabindranath Tagore?
& (Bod m0&° Dol oo 858 =06 287

Options :
Gitanjali
L Aarozd
Anandmath
) whodb

Ghare-Baire

L % 00-3D
Gora
4, % foe

Question Number : 31 Question Id : 8732655166 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
88)ed G ©B0ad O Teges’ (©28 Somedo?
Options :

Kuchipudi

258

1. ®

about:blank 18/94



6/13/24, 11:46 AM about:blank

Kathakali
- ={opt=1
Kathak
3, % 858
Bharatanatyam
v FEsTeg0

Question Number : 32 Question Id : 8732655167 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?
Bod T8&° 883408’ I88 weardo 287

Options :
Athirampally water falls

©8T°0LD 2earso

1. #
Kunchikal water falls
%odES z=eardo
2.9
Hebbe water falls
. R) searso
Jog water falls
£58 zeardo
4. %

Question Number : 33 Question Id : 8732655168 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 19/94
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Seismology is the study of
i‘:@ﬂé&:é 329 wahdo Bipos?
Options :

Volcanoes

at
- @F&déﬁﬂﬂw
Cyclones
Sozrdoen
2. ®
Earthquakes
v Frdoaren
Tsunamis
LomrSoen
4. %

Question Number : 34 Question Id : 8732655169 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chamrperson and Managing Director (CMD) of
Bharatiya Mahila Bank?

BhoS Dore wgoE @) Bng 8B F5SK)S woak HdLoh FBLE
(CMD)ai%?

Options :
Usha Anantha Subramanian

) aaP ©dod DHoAHS
1.+

S.M.Swathi
D% Do. s
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Leena Nair

O 7°a%b
3. %

Roshini Nadar
\ g2 =5

Question Number : 35 Question Id : 8732655170 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Narasimhan Committee-II was appointed to recommend reforms on
%8208 8- 11 (Bod wodoDd Sodbmed brsy) ool
Rdbvodn&od.

Options :

Insurance sector

L =3¥0m38) Botfo
Poverty

) &8%o
ST

- Bhod
Banking sector
aego8oh oo

4.9

Question Number : 36 Question Id : 8732655171 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Part III of the Constitution of India deals with
Conlet] Uﬁﬁﬂg}of‘ioéﬁa [II & DzrKo &2 %8oD BenHdod.

about:blank 21/94
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Options :

The Union and its Territory
%rRcHhS Hobakn oo &rgrilo

Citizenship
o
. 830
Directive Principles of State Policy
h
- wa8% S(@ee

Fundamental Rights
v (PSS SPENeD

Question Number : 37 Question Id : 8732655172 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who was the first Chief Election Commnussioner of India?
FESBED D HD DoES EHhR8E IN?

Options :

S.P. Sen Varma

an.N Bh 58)

Sukumar Sen

o =
- 056 DS

Kalyan Sundaram

, « BEgm Soddo

T. Swaminathan

8. TS

about:blank 22/94
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Question Number : 38 Question Id : 8732655173 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the theme of International Earth Day 20247
woSTréch 8é aS°H ko 2024 Ew¥) =8 Ko 2B?
Options :
Invest in our planet
B30 as b EIS

Restore our earth
BRPE w55 28

Planet vs plastics
FRE Vs 25
e Ll 5}

3.¢

Protect our Species
B85 ©%6 905

Question Number : 39 Question Id : 8732655174 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Jim Corbett National Park was mainly the reserve of
2 S IA8S Q) (Perdore D& ©FArBeago.

Options :

Tigers

!
Lo Dwe

Lions
MosSten

2. %

about:blank 23/94



6/13/24, 11:46 AM about:blank
Rhinoceros
&S50\ TPeD
. x TR 2
Crocodiles
0w
4. % ﬁgg

Question Number : 40 Question Id : 8732655175 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

0838 Lbdkn ©od8oRTEK) nhe Dok BodhHe e HBod IUCN
QBN TedgRods B 28?7

Options :
Green List
AS 0%

1. % s
Red List
3& o5

2. e
Black List
orE O%

3. 7 i

Yellow list

D&° OF
4. % S
Teaching Aptitude
Section Id : 873265170
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

about:blank 24/94
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Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265205
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732655176 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The role of a facilitator in classroom 1s
$5858 K68° 2208ws ;g .
Options :
To dictate information to students
S?Jt::'giﬁgaéa QERPT TR aélﬁc:ﬁcﬁc

To guide and support student learning
oo ©EdTRs $rgRBERo Bodyto bk B adwwo

2.¥

To admimnister tests
a’::ééa:& QBEroserds

To discipline students
DTERR EBEE® GoSerRs

Question Number : 42 Question Id : 8732655177 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Primarily the development of child is depend on

3% Deedo [Frerpdor BANE BErddé add .

Options :

about:blank 25/94
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Parents
SO ooen
. ®
Society
BsSrazadn
2. %
School climate
L FBTY OB
Environment
" acﬁga’niﬁma"m

Question Number : 43 Question Id : 8732655178 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The position of the teacher in teaching learning process.
58T wgds (HBHS® sarmeyasnd 23
Options :

a leader

L B S

a dictator
, w  Nchod

a member

) B
a director
ety

4,

about:blank 26/94
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Question Number : 44 Question Id : 8732655179 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching is a function of
So8Kos S S dprddn
Options :
Teachers satisfaction
6&&50533%3 écéeﬁ:n

1. %
Teacher’s honesty and commitment
. aarEgcind Qarond bdin dodedn
2,
Teacher’s making students learn and understand
. S?J:;ngﬁgaéﬁ ©FLRD 0OAD VIS EY ok
3. ¢
Teachers liking for professional excellence.
SPEEaind 5B J0PS By ©herd
4. % S

Question Number : 45 Question Id : 8732655180 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the term “learning style” refer to?
88)0h 3.8 ©3 H¥o 3D JrDs?
Options :
The speed at which students learn
Sﬁwgﬁéw ﬁiﬂaéﬁ = fafe)

The preferred way a student learns best

- Do adedonr SEFR (@l Sodele!

about:blank 27/94
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The number of subjects a student can learn
~h ~
. Do RN NFRe Jowyg
The location where learning takes place.
CEVSTe 287 ($3¥o

4, ®

Question Number : 46 Question Id : 8732655181 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education.

DES® prEE Do BIR R D&os?
Options :
Physical growth of students
S:JE"EF)?%EI =88 adibhde

1. %
Emotional intelligence

. % a;fSEésﬁ ﬁaﬁ‘:&g
Mental processes and skills like problem solving and critical
thinking.

v $5oR=HBamBsn ok DHRYTHE 9&° S8 Lo HrvdE JHergen
Social interaction among students.

- Do Sogy rErRE BB B8

Question Number : 47 Question Id : 8732655182 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Interaction inside the classroom should generate
SBHB B85 Teoe S8K58 KaS°

about:blank 28/94
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Options :
Argument
- 65&&:
Information
SErordsn
2. %
Ideas
- e&tSten

Controversy
Daeddsam

Question Number : 48 Question Id : 8732655183 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following statement is correct.
& 80B (PEES® 26 $B8a.
Options :
Syllabus 1s annexure to the curriculum
Hood o3 éﬁagoaﬂaéa oo

1. ®
Curriculum 1s the same 1n all educational institutions.
. ewg ‘éoga&g_oﬁéﬁ &Gﬂéoa’é;: 2,58
curriculum mncludes both formal and informal education.
v ©H0E, VXETBE DS’ B b 2.8 rKo
Curriculum does not mclude method of education.
DEE° TP HerPE KD S0l
4. %

about:blank
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Question Number : 49 Question Id : 8732655184 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which is the least important factor in teaching
SR8 8RS (el 588w 28?

Options :

Punishing the students

Sﬁtﬁggﬁ} g8odbwo

1. ¢

Maintaining discipline in the class
. 8568 568° (EH8gm rdodeo.

2.
Lecturering in impressive way
wdend3 5588

3. % E
Drawing sketches and diagrams on the black board.
Nopgp J@knw, Fanen Acsheo

4. %

Question Number : 50 Question Id : 8732655185 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual 1s
558 o8 anaeaggm odne
Options :
Acquired by the individual
. 535@5: Soardd
Developed by the teacher
Sarpgdied w8 a’:e)g Bhne

2. %

about:blank 30/94
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Absorbed from environment
Soghdeasin T8 (Harode

3. %
Occurred from within
&% %ol JoDonid
4.«
Physics
Section Id : 873265171
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265206
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8732655186 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a variable mass system, what causes the changes m mass
$E(Begoo8 5’3533%65 S8 P8 Wao&?
Options :

External mass

 apderomesn
1. ® L]
Internal force
@céﬁé 28350
Conservation of momentum
B3 38 dHSeDHHdcn
) DS

about:blank 31/94
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Conservation of mass in to energy.

RFS: Dahddn [Hddn (o8, ¥&m Sty Bobdo.
4.

Question Number : 52 Question Id : 8732655187 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Rutherford experiment on scattering of o particles by a metal foil, the
scattering cross section depends on the angle of scattering 6 as

886 E}.’Jﬁg (BRrsEns® &5 3% oo O e éééﬁeao 228AKPD
é&éaﬁza 53365335&: 6 2 & o Sprdid sotood.

Options :
sin* @
1.
sin® @
2. %
)
sin*—
2
3.9
)
sin? —
2
4. %

Question Number : 53 Question Id : 8732655188 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Euler’s equations are primarily concerned with the conservation of
soned o) S&0E8een e a2 NE)E0dEH Do20foR8R.
Options :
Mass only
(B$%50°88 Sr(E

1. %

about:blank 32/94
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Momentum only
@éégﬁr'ia":mééa S8

2. %

Energy only

- 88 a’nr{_éfo
Mass. Momentum and energy
@Sasbsub%, @5% SKS0n Soddkn %8
4.

Question Number : 54 Question Id : 8732655189 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Keplers third law relates the period of planet’s orbit (T) to ifs
835 D) Lurisd Aohodn, auf (Hero BwE) Egzy 988 28 (T) , & Bod
& B8 JowodoBs.
Options :
Essentricity (e)
Q5888 (e)

Semi major axis (a)
. @géﬁm (a)

Orbital mmclination (1)
. g0 (1)

Longitude of perihelion (®)

L 287370c%S Bgroddn (@)

about:blank 33/94
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Question Number : 55 Question Id : 8732655190 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following equation represents the Galilean transformation
tor the position of an object along the x-axis?
x-ofo Ioad L68 $hH ) o £, RDOHS HBHEK & (Bob
3808808 28 Hr2%08?

Options :

¥l =y — it

x Lo eyt

2.

xlzx—t
3. %

wl— gt
4. %

Question Number : 56 Question Id : 8732655191 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the basic postulates of special theory of relativity is.
$35E F2E RTzodsn k) LD (Damrddos® 88,
Options :
Time 1s absolute
Shabo Sorgss

Mass does not change with velocity
SK08° ($koe8 b

2. %

about:blank 34/94
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Speed of light 1s constant
o8 IKsw %Goﬁ“ Sotnod.

3.9
Both 2 & 3
2 208c%0 3

Question Number : 57 Question Id : 8732655192 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total energy ‘E’ of a sumple harmonic oscillator of mass
‘m’, frequency /" and amplitude “a’ 1s

BEgoes ‘W, BdsddsEn o fdoke I8 ‘A’ Ko $8¢ SoedE Eloddn
Bk Zoddn €8,
Options :

w2 FPa’m
1. %

21’ Fra m

2.

27? f2am
3. %

2n? [Zam”
4. %

Question Number : 58 Question Id : 8732655193 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the quality factor (Q-factor) of a resonant system indicates?
ORTE Y sy hearasin (Q-5°88:n) B HrDdod.
Options :

about:blank 35/94
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The amount of energy dissipated per cycle.
58 S(E°R8 iy @5:5 48 Swdo

The sharpness of resonance
oTE HEE Sk Sk
[

The frequency response range of the system
% St LD (BBHoSE 588

3. ®

The maximum amplitude of oscillation
& GE) oD Hod

4. %

Question Number : 59 Question Id : 8732655194 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Fourier analysis of a square wave gives

S8 Sboidn G Frodr dFhn & Bod TS & drodos.
Options :
=2~ 22 |coswt + 5 cos3wt + = cosSwt + ... |
5 2 coswt 32 Cosow =2 cosowt
1. #

Y=E + £ [Siﬂa}t + 1 sin2wt + - sin3wt + ]
2 g 2 3

2. %
o Lo . T
‘1—; [sz.nmt + 5 sin3wt + = sinbwt + ... ]
3, %
™ . e e
"&=?ﬂ [sz'n.::ut - = sindwt + = sinbwt + ]
4.«

about:blank 36/94
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Question Number : 60 Question Id : 8732655195 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which property of ultrasonic waves makes them useful for non-
destructive testing (NDT)
©8 o Bwd) D ofmo, T DFesEdo =0 H8% (NDT) & addridae
3@0&.
Options :
High frequency
0¥ TPRsddgEn
1.
High amplitude
©§E BoSK Hos

Low speed
L S5

High absorption
©o¥ S840

Question Number : 61 Question Id : 8732655196 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The condition for constructive interference between two light waves
having

Both =Po8 oo gy VoYTRE LBELerI8 HIVL aﬁa%a_

Options :
Phase difference in an odd multiple of 7
(AT D0 T Took) B Sogy HBer8 sooin.

about:blank 37/94
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o » A
Path difference of (2n + 1) =

BeBEgn (2n+1)7 & Gk

2. %

Path difference of nA
3y JEBEED Nl B DS
None of the above

2 3ok =D
4. %

Question Number : 62 Question Id : 8732655197 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A convex lens of focal length 84cm and dispersive power 0.021 1s
placed in contact with a concave lens of dispersive power 0.002 to make
an achromatic combination, the focal length of concave lens should

be

ddcm aﬂa:ﬂéoééx'm S0d8a%w a’:&é‘eﬁé &baﬁngéw 0.021 Ao Hozrsed B68nd
0.002 a’:eéﬁé avaagém Ko Hersed Znddnst ‘:63%5;65 o @égdﬁwﬁééaﬂwrw

S5t B, Hirsed dwd SrergosBiw

Options :

Scm
1. ¢

dem

2cm
3. %

10cm
4, %

about:blank 38/94
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Question Number : 63 Question Id : 8732655198 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The movable mirror of Michelson’s interferometer is moved through a
distance of 0.02603 mm. The number of fringes shifted across the cross
wire of the eyepiece of the telescope, if a source of light having wave
length 5206 A% used is

SIS K888 Srdsins’ 588 B8yesim 0.02603 .8 &rdko
$69)¥gowns, ErdlgR GnY) wiiedsn e $84D008gE v sk

ot dREHbED Bods é%w Sogyg . P08 8% SYor@YEn 5206A°
Options :

200

1. ®

Question Number : 64 Question Id : 8732655199 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which factor can be adjusted to improve the resolving power of a
grating?

B8k Zo¥) JFsdBe ﬁv&%@ DB SGTR8 @ 8 Soarin
DD,

Options :

Thickness of the grating.

D8f Bwd) Lok
1%

about:blank 39/94
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Material of the grating
) % O&cf Sw¥) St

Angle of incidence
588 80

Number of lines per unit length.

O5Po8 SPEHDH Do Sogyg
4.

Question Number : 65 Question Id : 8732655200 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The structure of a zone plate is such that  are formed.
£S5 Seokdn R)n“éeaa’;::
Options :
A series of concentric rings with alternating and opaque zones.
Bskmob 888 Hbdkn warditE Hoderes® éo@é‘gé dodire

1. B8,
A smooth curved surface.
SIS HE addsen
2. %
A series of parallel lines
- Sdrosy Bye L_éz%
A grid of pixels.
L dow A&

Question Number : 66 Question Id : 8732655201 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 40/94



6/13/24, 11:46 AM about:blank

A glass tube of length 15¢m contains sugar solution, that it rotates plane
polarized light by 11° the concentration of sugar solution is
when its specific rotation is 66°.

15208 SPEH Ko e Lo IEE ([Erdeasind EOA @ol, Jdde (IS
08 11 (Fdondn 080088, © [Tohnsdn DB (Feoe 8%s0 S=66"
wond & [Phdmo ES

Options :

0.011 gm/cc

1. %

0.22 gm/cc
2.8

0.11 gm/cc
3.¢

11 gm/ce
4.%

Question Number : 67 Question Id : 8732655202 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Light rays is incident on the surface of glass plate at an angle 60°. The
entire reflected light 1s plane polarized. the refractive index of the
material of the glass plate 1s

o8 &mdnen ddde e oD 607 oo’ DE8oupdd. JPEH
DoeHBE 5708 Sihde &)DS 208 EBR, e Heod S SBFSE Hocadsio

Options :
Zero
Eribgo

1. %

about:blank 41/94
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1
2. %

1.5
3. %

1.732
4.9

Question Number : 68 Question Id : 8732655203 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The spherical aberration 1s minimized in a crossed lens by making redii
of curvature of surfaces Ry and R» to satisfy by this condition.
5535 Beodsn ool FPo0% DHLBE0 éﬁamﬂaoé © 0¥ SESere ag&btgw

Rieche Rhe &éé LDomodam.

Options :

R, =468,
1. ®

R2 == _6R1
2.9

Rl = 4R2
3. %

R,=4R,
4. %

Question Number : 69 Question Id : 8732655204 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Maxwell-Boltzmann distribution curve illustrates
SrEBS-FE B8 Jodd HEkn 30 S0k,
Options :

about:blank 42/94
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The distribution of speeds of gas molecules at a given density of
a gas

2.8 TA0HE® aN® FoldS 58 ko v 38 Hodd

The distribution of speeds of gas molecules at a given pressure of
a gas.
28 TERDE’, ad HEdLn E TERD vwHe K Jodd

The distribution of speeds of gas molecules at a given volume of
a gas
2.8 TAERHE’, at DB Jodrnin G TAEND voHe K JodB

The distribution of speeds of gas molecules at a given
temperature of a gas.

2.8 TAnHE®, add SRS 58 ochn wwPe 38 Dodd
4.

Question Number : 70 Question Id : 8732655205 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A refrigerator 1s
8p2Twh wdka
Options :
Heat engine
acfodo

An electric motor

33:5:55 ¢35

Heat engine working back word
o L. e
3 3585 BT acdolgo

about:blank 43/94
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dynamo
383

Question Number : 71 Question Id : 8732655206 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Entropy of a system in an irreversible process 1s always
DEKS (JBSHS® 2.8 S o) oD dgHpd .

Options :

Constant

REZ0e Yoo

Zero

. %r{:egéa:
Increases
o d

3.¢

Decreases
é@éﬁ:o&.

Question Number : 72 Question Id : 8732655207 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The natural independent variables of Gibb’s function are
Aed) 'ﬁ:&m:n €8 (Pochos® dira Sifold SEoeden ;
Options :
Entropy & pressure
Qoleod Hbakw HEbEw

about:blank 44/94
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Temperature & Pressure
aPHE S8ak» S8
2.¥

Entropy & volume
- Doled Bk HobHoErBH0
Temperature & volume
SsE(HE HBuin Pod Hdkreasin

4. %

Question Number : 73 Question Id : 8732655208 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following materials are commonly used in adiabatic
demagnetization process.

©ed Dbrdn (BEHE, Bod 0 D Sormen Frdndnre adErhos
2SS om.

Options :

Ferromagnetic materials

2(6° @c&ﬁgoé ST

1. %
Insulators
DEora odEren
2. % H
Super conductors
08 s
3. %
Para magnetic materials
T ©odIes é:sﬂcgua
4.

about:blank 45/94
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Question Number : 74 Question Id : 8732655209 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pyroheliometer 1s used for

28O Rr b & 1Bod S° B TES DARBrAcSnHEos.
Options :
Measuring low temperature
S aifiSod Foddo

Determination of solar irradiation
PEDES a0 S¥) DoBes
2. L
Measuring the solar pressure
;xR HE8H0d Fodto

None of the above
D 3ok se.

Question Number : 75 Question Id : 8732655210 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the Reyleigh-jean’s law predict about the energy density of
black body radiation at longer wave lengths?

80-£]) Srldo A S0k Soge 88 Hn S D8bmo IeE) I8 Jeo(B
D voT Ik08.

Options :

It decreases linearly with wavelength

28 $8oK B8rost LE¥orr SKdod.
1. ¢ = 0

about:blank 46/94
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It increases exponentially with wave length
28 Sdoi na_ggoﬁs DH8Sorr DHiHH0k.

2. %
It increases linearly with wave length
28 éﬁcﬁ@%&’méﬁ RBE 0T DB,
3. %
Remains constant
QX0 S0,
4. %

Question Number : 76 Question Id : 8732655211 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The potential at any point inside a charged hollow sphere
e3¥5red Fon BP¥Ens i O Dodd SEIT° DS FSo

Options :

Increases with distance from the center

So(Bdw 008 Erdos® HhEos.

1. ®

Decreases with distance from the center
- Sol¥dn %08 &r8o8® SHsod

Is constant

2S5 Hodd
3. @

Is zero

|, o Stk

Question Number : 77 Question Id : 8732655212 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 47/94
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An electric dipole consists of two opposite charges of magnitude

1x 10 5coulomb separated by a distance 2cm. The dipole is placed in an
external field of 7x105N/c. The maximum torque exerted on the dipole is

2.8 Do|88 Botd)Ssn 220.8 &r808° T BchndS 1x107° Hevod Bk
$8ckn &80y wRdsnod 08 ad. TPAD 7x 10°N/C 8ES Ko
PEES0s” $odd Betyso PRV #8g &5 .
Options :
4x103 N.m

1. %

2x103N —m
2.

Ax103N—m

2 A0V N com

Question Number : 78 Question Id : 8732655213 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the SI units of Electric polarization?
DEYS (oeasin B ST (Dairerren A?
Options :

Newton / Coulomb

- drpos [ Herod

Newton / m
S A%

about:blank 48/94
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3. %

4.

Question Number : 79 Question Id : 8732655214 Question Type : MCQ Option Shuffling : No Display

Volt/ m
88 [ &

Coulomb / m?
%eovod [ &2

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The electric susceptibility 1s defined as the ratio between
DpS SHPDOS & Bolod Koy wlm QDRAD DyDowi.

Options :

1.«

4. %

Question Number : 80 Question Id : 8732655215 Question Type : MCQ Option Shuffling : No Display

Electric polarization and electric intensity
DpS HSesd o0 DS S 88

Electric displacement and electric intensity
DegS P (Foddn DO DyS &858

Electric intensity and dielectric displacement
DS HXS BBk DmeyiE F¥(godo
@

Electric intensity and electric polarization
D&y SES BHS H8cko DS Byead

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

49/94
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A particle of charge ‘q’ 1s at rest in a magnetic field ‘B’. The force on
the particle 1s :

Rfodomr DY) Q" ©3¥ dedw, ‘B’ ©ohI)ed S8o &° HoSadBas, vond
des0 HABD wedw

Options :

Bq

1. %

q/B
B/q

ZETO

0T

4.

Question Number : 81 Question Id : 8732655216 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A coil 1s completely wound over the other coil. then the coefficient of
coupling 1s
8o éﬁxﬁ:}%w 2.8 PR 2.88 o D8N, 8 k) dofd Heesdn

Options :

0
] %

Infinity
2. %

1
3.¢

about:blank 50/94
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0.5

Question Number : 82 Question Id : 8732655217 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The time constant of RC circuit is
RC Sec%ho cﬁwégf = %Uﬂoéa"}w

Options :

R/C

Question Number : 83 Question Id : 8732655218 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s displacement curent

~PR(god DS (Haeairao OBTPID?
Options :
Current flowing through a conductor
TEEEn o (HR&roD xS

1. %

Current induced by a changing magnetic field
Erdo&l) ©chFed 8o oo (2008 DByS (Parrdn

about:blank 51/94
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Current caused by the displacement of charges in a dielectric
Q@e[ﬁ%ﬁéﬁ DyTRTe igiétgfoéé:: POl A8 Vs (Haesieain

3.¢

Current generated by a battery
aFEf;é.:zé e a8 BS28% DS

4. %

Question Number : 84 Question Id : 8732655219 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hybrid parameter calculations are used in
D8 FodhdHe B BIS° a5BrAosndaron.
Options :
Two-Port linear network
Bot D85 BRH I8EE)

1. ¢

Darlington pair

8ol 2ot
2. % ST

Push-pull

Class — A-amplifier

. TR A "Yohpahd
4,

Question Number : 85 Question Id : 8732655220 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which logic gate represents the Boolean expression A+B.

=rD5HS $888m A+B D O oo2f ordin $r0508.

Options :

about:blank 52/94
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NOT Gate
NOT cr:gda’:m érl_ééa

1. ®

AND Gate
AND cr:gtS&'m érl_ééa

XOR Gate
XOR cﬂngzﬁa’m

OR Gate

, » OR oo

Question Number : 86 Question Id : 8732655221 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which logic gates are used in a half-adder?
D -a3rE6St O eo2E ey ad@riosaiaron.

Options :
XOR gate only
XOR zeg8simen &(@

XOR and AND gates

XOR &gciw AND medaoen
2.

AND gate only
AND oei8doen &el@

OR gate only
OR ory8does &l

about:blank 53/94
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Question Number : 87 Question Id : 8732655222 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If ‘n’ 1s the principal quantum number of the orbit, the radius of the
electron orbit 1s proportional to

N’ ©H8s (B8 oo Koy YouT JoFS 57 ﬁéﬁvgm %
%St ErrEosd sotnod.
Options :
i
1. %
1
%
n?
3.9
1
4, ® n?

Question Number : 88 Question Id : 8732655223 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In L-S coupling, the total angular momentum (J) of an electron 1s
L-S 820R&° QoS @) Sndso SPdcdh ($5Srsw (J) o .
Options :
The sum of spin and orbital angular momentum
)T S8k ¥ Bhuh (BksErre Snodsko

The square root of sum of squares of spin and orbital angular
momentum

S Hockn g Edod BHHA 38 Indo Eod) SYTuroLn

about:blank 54/94
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The product of Spin and orbital angular momentum
)= £dcko 8 S (SR B Hordesion

None of the above
2Bdn 0.

4, ®

Question Number : 89 Question Id : 8732655224 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Raman effect is due to
o5l P08 o8
Options :
Molecular absorption
wmde §84mo

Molecular scattering
- L) a’:&é‘ﬁémc

Refraction
S8 455850

3. ®

Brownian motion
\ |FRHS Sosn

Question Number : 90 Question Id : 8732655225 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The de Broglie wave length A4 of an electron with momentum ‘P’ 1s
SR80 ‘P’ $0A% & (5% 8504 Stseo A= % J3oedsm.

Options :
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| =

4.9

Question Number : 91 Question Id : 8732655226 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An electron is accelerated through a potential difference of 100V, the
de-Broglie wave length associated with the electron 1s

100V sr&8chd BEL0 ooo° aa@!;S éﬁﬁﬁé@é@é &‘J&:L%Eé; Bo20802%
& 5% S804 Sseo ;
Options :
1.227A°

1. ¢

1.9A0

Question Number : 92 Question Id : 8732655227 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 56/94
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Which of the following correctly describes the relationship between the
uncertainty 1 energy(AE) and time interval(At). according to
Heiserberg’s uncertainty principle.

FTRs0d 0B r(Fo (Heedin $88° 088 (AF), o dooghd (AD), ©
g JomoFEnds [Bod TVE° 28 I8 DHSX0E.

Options :

AE xAt = 1/,
1. ®

AExXAE= 0
2. %

AE xAt < Y,
3. %

AE xAt > T/,
4.9

Question Number : 93 Question Id : 8732655228 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Zero point energy of a particle in one dimensional box of infinite height
1S :
wod ddhe NEDBSH 3:@653} g0 GwE) ¥y Dok ¥8
Options :
Zero
L L0

hw

[l
/Bsz

3. ®

about:blank 57/94
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h?
/Bsz

4. %

Question Number : 94 Question Id : 8732655229 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a nuclear reactor, the control rods are made up of

©e2085rE5EE, Dako(m Eqen & Soird Sedbadaron.
Options :
Iron
xS0
Uranium
S50BQ%ho
2. ®
Plutonium
- ‘éﬁéﬁ'&&}cﬁ:o

Cadmium
?&édﬁ:o

4.9

Question Number : 95 Question Id : 8732655230 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the Primary limitation of the liquid drop model?
B Doth Sdorze GEnd) (PEDE IBNE d?

Options :

[t cannot accord for the strong force between nucleons.
28 Kop8abdy F; oS 5 SHoNk.

1. #

about:blank 58/94
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[t cannot explain the stability of nucleus
58 SR Solf¥ paR) DLoIBH

2. ¢

[t cannot describe the behavior of excited nuclei
L x 30 &828 SolfTre (DIEHH DNHBoNSH.

It cannot predict the rate of nuclear reactions
L 28 v (P8 I S wols Ich.

Question Number : 96 Question Id : 8732655231 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Quantum dots are
00 o) ol
Options :
Tiny conducting particles with size 2-20 nm.
2-20 nm H8Kreazin EOX ED A FFE Eeren

1. ®

Ty msulator particles with diameter 10-30nm
10-30nm aﬂgcéa’):: égﬁ Eb&@e".i D) poPE Seren

Tiny semiconductor particles with diameters i the range of
2-10nm

- 2-10nm aﬂgéa‘m K &b%@ri) AL @ga':na’avé Eeren

Ty plastic particles
08D ) LS Serew

4. %

Question Number : 97 Question Id : 8732655232 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 59/94
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10 nano meter 1s equal to

10 S o6 % SErEs.

Options :
107%m

1.¥

1078Cm

107%m

10-1%n

Question Number : 98 Question Id : 8732655233 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Super conductivity means
w&TerES ol ;

Options :

The property of zero electrical capacitance in some substances at
very low absolute temperatures.

Ter 68 aPide S8 Y a’:}nﬂu‘;ﬂéﬁ iy DS BB Bwd)

ﬂéeao

The property of zero electrical resistance in some substances at
very low absolute temperature

Trer S8 S8 atfise 38 Y éﬁﬂb;ﬂéﬁ ST DS 28%%0

cax;é@r oo

about:blank

about:blank

60/94
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The property of zero mductance in some substances at very low
absolute temperatures

T Sk B85 affriSe 5§ EY STTes Gy sosgy @Y

ﬂé_ﬁo

The property of mfinite electrical resistance in some substance at
very low absolute temperatures.

e ééagré DB ﬁﬁ;@iéa 5&3 5 éﬁbﬁ{;aé‘s CSRICh 3)&5:55 28°%0
cBaaé& uésaa

4. %

Question Number : 99 Question Id : 8732655234 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Meissner effect occurs when,
G (Hardsin AHpH RBhdod?
Options :
A super conductor 1s cooled below the critical temperature

. ©8 FHFEsD OI6 éo&?é 6@;@{6 go8 S0 SendSp
1 v

A super conductor 1s cooled above the critical temperature
LTS 038 Sodlf e 408 &S Spndds

A conductor 1s cooled below the critical temperature
28 aeddn Sodlf asfrs 408 SEfime Jgnddipd

A conductor 1s cooled above the critical temperature
2.8 oo ﬁa&:{é agPrs %08 QENRT Bpadddp.

Question Number : 100 Question Id : 8732655235 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 61/94
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The key to the BCS theory is.
BCS %gposedd Seko
Options :

The pairing of neutrons
Sy addrdeo

1. ®
The comparing of electrons
22850 do3°R
2. 8 ks
The pairing of electrons
Dozt 28 Erito
3.9 =
The pairing of protons.
(R8¢ =8 St
4. %
Chemistry
Section Id : 873265172
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265207
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8732655236 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The oxide which can react with both acid and base 1s
widn Hockn Fiines® S 2D sBE

Options :

about:blank 62/94
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PbO»
1.

SO»
2. %

NO
3. %

P4O10
4, %

Question Number : 102 Question Id : 8732655237 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the strong reducing agent from the following
& (808 TS° nod EoHEsBR Ebrrdsn.

Options :
Ce’t

1. #

Cett
2. %

L
Eu”

3.¢

THY

Question Number : 103 Question Id : 8732655238 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which mmpurity in germanium gives n-type semiconductor?
Eﬂéﬂcﬁméﬁ D 200850 n-8%H ofaerEsnt asy.

Options :

about:blank 63/94



6/13/24, 11:46 AM about:blank

Carbon
- ?63]5

Phosphorous

ot -

L v @mﬁafﬁm
Aluminium
@w&&:&dﬁm

Boron

SoeS

4, %

Question Number : 104 Question Id : 8732655239 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At 298K. the solubility of Bismuth sulphide is 1.0 x 10" mol L. The
solubility product of it at the same temperature 1s x x 107Y. What are x
and y respectively?

298K 8, D{HS $)E (¥hchd 1.0 x 107305 &1, o8 adfis £3

oS ahs ©0 x X 1077, S5Jr X, ¥ © deoden Jod?
Options :

1.08. 75

1.08. 45

2.8

1.08, 73
3.¢

3.1, 74

about:blank 64/94
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Question Number : 105 Question Id : 8732655240 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following alkenes will be most reactive towards
electrophilic addition?

& (808 TS VoS (mE Sododdn Kok ©i¥ Sopded Ko v)S 287?

Options :

[/j/x\//”
Ef\‘/,ﬁ‘\*\xv/
2. % \//

3.¢

e,
Question Number : 106 Question Id : 8732655241 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4. %

about:blank 65/94
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Which of the following 1s the most effective in causing the coagulation
of ferric hydroxide sol?
& Bod TS w0l BTl Hodskn =D 88 TEFE ABS 2a?
Options :
NaCl

1. ®

NasPO,

2. %

Al5(504)3

3. %

K3[Fe (CN)g]
4.

Question Number : 107 Question Id : 8732655242 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Adsorption of a gas follows Freundlich adsorption isotherm. The plot of
Eog% and Jog P i1s a straight line with slope equal to 2 and intercept

equal to 0.3. The value Df% at a pressure of 2 atm 1s (log 2 =0.3).
2.8 0 088 koo [FroncEdS vwseien éarééq:w ©d80HHHD.
log— %800 log P & & AbS (5 e 2 0Bk wodmoticn 0.3 o8°
28 $568p. 2 wiry buksn 88 — e (log 2=0.3).
Options :

4

1. ®

2. ¢

12

about:blank 66/94
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18

4. %

Question Number : 108 Question Id : 8732655243 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The shift of an absorption maximum to longer wave length 1s called
gtete! Fhekn %% Do 0A% Sbok SY5an0is Egé@o%’a'm Bodmr ©d

Options :

Hypsochromic shift
2% E°0E F(ghodkn

Hypochromic shift
S HE P(go¥kno

2. 8

Bathochromic shift
2 &° ISP NE (o
3.9 %
Hyperchromic shift
55 (E°%E ﬁgé@aéaﬁn

Question Number : 109 Question Id : 8732655244 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Determine the half life (rlfz) for a first order reaction whose rate
constant (K) is 5.544 x 10351

Bew %bﬂoé&: 5.544x 10 ° 27 Ko BED ol 85 @n;cﬁwé;é;
Edofrosie.

Options :

about:blank 67/94
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1. ®

2. %

3. ®

Question Number : 110 Question Id : 8732655245 Question Type : MCQ Option Shuffling : No Display

2
N
[ 4]

2
L

R

25 minutes
25 =

125 minutes
1259

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the order of a reaction whose rate equation 1s experimentally
determined to be r = K[A]?[B]* for a reaction A + B — products :

A+ B — sonddine IG5 (SArmréEsonr Si8ais Bew Ho8Bean

about:blank

r = K[A]?[B]" $8; [gsrodsnb Edofsoskm.

Options :

Question Number : 111 Question Id : 8732655246 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank

68/94
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Of the following 1ons, which one 1s diamagnetic?
& (808 vrHes® $cir vahnes oY (BEGoHsa.

Options :

Tf3+
1. ®

Cut
2. %

MnZt
3. %

V02+

4. %

Question Number : 112 Question Id : 8732655247 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With the increase in the atomic number, the radii of Ln3" ions
PCTeYunintas) éaaaé 2% 808% Sren [ndT vuddrde asﬂar')ﬂ“c;aa

Options :
Increase

| % diharon

no change
28y Goln

Decrease

- rizil_glaﬂm::

Reach a maximum and decrease
¥ &gg Dendd DBEr 0OAY S éﬁga‘o&:.

about:blank 69/94
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Question Number : 113 Question Id : 8732655248 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 10% aqueous (K = 0.5129C.Kg/mol)solution by mass of a
non-volatile, non electrolyte solute boils at 100.22°C. The molar mass of
the solute 1s

2.8 ogrdde, 3)&5:5633?;_% A0 BwE) 10% zeErdenc (FFESEonr) BwE)
i aEE k&n 100.22°C. wow8 &R Irerb (B5oe8
(Kp = 0.512°C. &.iv./375).
Options :
258.6 gm / mole

- 258.6 (0 [ IS
232.7 gm / mole
2327 e [ S

2. %

129.3 gm / mole
1293 o0 [ 3S

3. %

280.8 gm / mole

L x 280.8 | [ 38

Question Number : 114 Question Id : 8732655249 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Wolf-Kishner reduction for the formation of hydrocarbons is the
TE Y S50 &BGrA0D D-8Y5 Echses Sy ol

Options :

about:blank

70/94
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Reduction of aldehvdes and Ketones in the presence of excess
hydrazine and sodium alkoxide.

©88 TEES Hocks Fédbo vemgfe JEes” wdrhen o
- 85°Se ¥oh¥seso

Reduction of aldehydes and ketones with amalgamated zinc and
concentrated HCI

20E ¥roo %8 g HClos® ©d3rfe %ok 85°Se gobddno

Catalytic reduction of alkenes and alkanes
&3)8%0 $gos E‘@gﬁ:ﬁ: 208w Gﬂé@ﬁ)ﬂ godhEsemo

Decarboxylation of carboxylic acids
$02)8)08 sire & son8)DEdno

Question Number : 115 Question Id : 8732655250 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Carbylamine test 1s performed in alcoholic potassium hydroxide by
heating a mixture of

=S IS H6ESE° wepFol Srerthcho WIER)E ErHnos’ 38 D D(Fdkn
Options :

Chloroform and a primary amine
. £58%3ro $Bckn (508 &S

1.«

Chloroform and copper powder
§8°3 80 H8ckn oA &8

2.
Acetic acid and a primary amine
DHBE whdn Bk (208 H&S

3. %

about:blank 71/94
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Chloroform and a secondary amine
£°6°3r80 $08dkn 2Eokd d&S

4. %

Question Number : 116 Question Id : 8732655251 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Preparation of a colloidal sol from a precipitate 1s called.
©SEHED 08 Ferond (Trimo Suird Ickned aoe beosd.

Options :

Peptisation

2588 eedn
1. ¢ -

Dispersion
S?Jééma'm

2. 8

Coagulation

3 % é&o:ﬁ%ﬂé&:
Dissolution
\ D(Eeieasin

Question Number : 117 Question Id : 8732655252 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Optically active 1somers but not mirror images of each other are called
Doz (H8Dozren =R (Fodes (P FE)Ezren

Options :

Mesomers
DB

1. #

about:blank 72/94
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Enantiosmers
DR BrIE

Diastereomers

LS5 8BrR0s)
3.¢ " e

Tautomers
SRS

Question Number : 118 Question Id : 8732655253 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Molecules that lack symmetry element are optically active.
vePed®  Sdrd wodo B8 Bhdo Seb Hlin (Fhn JEdo
Eenihebod.

Options :

SI]

4. &

Question Number : 119 Question Id : 8732655254 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Direct halogenation of benzene cannot vield.
BoESE (B S =IE8m S8;8° DGR e,

about:blank 73/94
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Options :

Fluoro benzene

£
- @‘ESE BoLS

Chloro benzene

&%8° BofS
2% ™
Bromo benzene
| . 53 BodS
Iodo benzene
OBrE BofS
4. %

Question Number : 120 Question Id : 8732655255 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct n the case of Cannizzaro’s reaction?
BQar8° SE5¥ Sowogod & (Bod TS DB Jgw?

Options :

given by only those aldehydes that contain a-hydrogen

0B S Ko vl Sr(ED SEE° r&otron.

given by only those aldehydes that do not contain a-hydrogen

L 0Bl B0 v e Srld $6:8° arEtoeron.
2. o S o 0

It 1s not a disproportionation reaction
38 obkard $8; 5ot

Characteristic reaction of only aromatic ketones
& $8; Shoo w8 Er8E 85% ©DerBAE IK;

about:blank 74/94
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Question Number : 121 Question Id : 8732655256 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Raman spectrum 1s based on the of electromagnetic radiation by
matter.

Drae H8deo, 3353556535206 DBBesren, Soeddn B Fo
=] ] — A
SEEdd8 Sotnod.
Options :
Absorption
S2odnEdo
1. %
Emission
ﬁcﬁaaé 2&¥0

Polarization
(§odesc BodSo

Scattering
B8EHeasin Bodo

Question Number : 122 Question Id : 8732655257 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The nfrared spectral selection rule for an anharmonic oscillator 1s
&)55:555&&5 5,588 S Hoetoes ?aojt%ﬁﬁ@rﬁag 2858% Aadisbo

Options :

Av=0,+1

1. %

AN=041Ft243

2. %

about:blank 75/94
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AV =41, A8 w0
3. ¢

Question Number : 123 Question Id : 8732655258 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Molar extinction coefficient or molar absorptivity in Beer-Lambert’s
Law
D5-eronf DeHos® Irerb £488 Soe 3rerd dend) heodo.
Options :
1s characteristic of the substance and constant at a particular wave
length.

é:ﬁ"go Bo) wergRE c‘.’:'i%o?.g BErdné Sotnod bk 2.8 DE%

SBoK Sssim 6 oron
1.V = a%

Increases with mcrease in the path length
(b Soodo DHihEes® rtn DbhEod

Increases with mcrease in molar concentration
Sorerd rEE B8 ren BKEod

Decreases with mcrease in the path length.
(b o 1HhhEes® S Sthod

4. %

Question Number : 124 Question Id : 8732655259 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 76/94
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The order of increasing wave length of absorption of different electronic

transitions 1s
& BHd &Je@g-‘;mE é&éﬁéaé‘s S 20d08 ééaﬁ@%&‘m 288 (¥doo

Options :

E

NS T <ToT <N—6 <06—0

1. ®
w W * *
C—0<N—0 <A —oT<N—T
2.
. S L L :
g-—30 < T <~“AN 30 < N>R
3. %
* * k *
O—0 <020 <0~ TN
4. %

Question Number : 125 Question Id : 8732655260 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Simplest carbohydrate 1s
©8 $8€dond =BYTES
Options :
Glucose
K85

fructose

2. %

Sucrose
SESE

about:blank

77/94
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Glyceraldehydes

Ao Qe
4.9

Question Number : 126 Question Id : 8732655261 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the case of reversible i1sothermal expansion of an 1deal gas,
28 B8 Tk eEdad (BKS) B3 TS SEo 28A%DE

Options :

AH=0and Au= 10
AH =0 08a% Au=10

1.9
AH = 0and Au< 0
AH = 0s08c% Au< 0
AH < 0and Au=0

. AH < 0 58c%n Au=0

AH = 0and Au< 0
, » AH> 02085 AUu<0

Question Number : 127 Question Id : 8732655262 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 78/94
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For a hypothetical reaction P+2Q—R+S. the following reaction
mechanism was proposed.
P+Q — I+ R (slow)
Q +1— S (fast)
“I” 1s an intermediate. The rate law expression 1s
2.8 JoBgyrdE 38, PH2Q—R+S &°, & (8ob 0% APTR), (BBFEoT.
P4+ — I-I-R(Bo“iaé&)
Q+I—S (3K0)
“T” oy oo ©on3 Bew Aok
Options :
Rate = K[P] [Q]’
8t = K[P] [Q

Rate = K[P] [Q] [1]
oen = K[P] [Q] [1]

Rate = K[P] [QJ(I]
3e» = K[P] [Q][1]

Rate = K[P] [Q]
Sex = K[P] [Q]

4.

Question Number : 128 Question Id : 8732655263 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a job’s plot the mole fraction of metal corresponding to the maximum
absorbance for the formation of ML, complex 1s

ML, ﬁaﬁ%aé, 2 Bgr DFos’ eia:g $5%e0 éé oz &0 SoE) 3rS rio.

Options :

about:blank 79/94
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2.00

1. %

0.50

2. ®

0.66

Question Number : 129 Question Id : 8732655264 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The expected spin — only magnetic moments for [Fe(CN)s]* and [FeF¢]*
respectively are
[Fe(CN)6]* 0808w [FeFs]™ © )S-wchdmod od devden

Options :

1.73 & 1.73 BM

1. ®

1.73 & 5.92 BM

2. %

5.92 & 0.0 BM

3. %

0.0 & 5.92 BM

4.¢

Question Number : 130 Question Id : 8732655265 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 80/94
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Trans-[PtC12(NH3s)2] 1s freated with thiourea (tu). The final reaction
product 1is

== [PICL(NH3)2] & $SBrchradse (tu) 8° 385 28200855 28)a
£8 (Bsragin 287
Options :

[Pt (NH3)4]**

1. ®

[Pt (NH3), (tu),] >

2. ¢

[PtCla(tu):]

None of the above

230 H

4. %

Question Number : 131 Question Id : 8732655266 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The osmotic pressure of a dilute solution 1s directly proportional to
2D [rdeso S (BPdes $&%0 (Bod RE° B8 hEirdardos®
SoHd.

Options :

Elevation of boiling point

NS 8 adS
1. ¢ TP L2 =

[onic concentration
i mEds

about:blank 81/94
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Flow rate of solvent
\ 5B (Hars Bew
Diffusion rate of solute
RS o558 Bew

4, %

Question Number : 132 Question Id : 8732655267 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following reaction can be used for the preparation of
alkanes.

eaé@ré:e S5r68 & (Bod RS D 858 aSTTA0BEKY).
Options :

Corey — House reaction

&8 - % 5

1. v

Whurtz-Fittig reaction

| B, -8R S5

2.
Kolbe — Schmidt reaction
. EEEQ - ?Laég ey
None of the above
L 23D =H

Question Number : 133 Question Id : 8732655268 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 82/94
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When a ketone is treated with H,O, or a peracid a formal insertion of
oxygen can take place to yield a carboxylic ester. This reaction 1s called

85°5% Ho0) 8o $60psns® $8; 020088y ©&=sS S osnsd
E“BEJ%JE)E é}fgg s08. & S8
Options :
Bayer — Villiger Oxidation
- BabHE -DIRE @ggjéiﬁz’ac
Kolbe — Schmuidt reaction
Eﬁas—?oég $85

Perkin reaction

3}5&5 $85

None of the above

4 % 2ID D

Question Number : 134 Question Id : 8732655269 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Langmuir adsorption isotherm is deduced using the assumption.
& (Bod (PaarEE wpedonr E'}‘Dﬁém:.\g w8854 a@ﬁagé aanBozd.
Options :
The adsorption takes place in multi layers
08 E%m oim¥ rdest =dhKdod.

1. ®

The adsorbed molecules mteract with each other
205288 v o.¥ TRsd 258 @’:8565 2Hharon.

2. %

about:blank 83/94
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The heat of adsorption varies with coverage
w8 EIHp%w aBede gk ($50F) a8 Srddod.

3. %
The adsorption sites are equivalent in their ability to adsorb the
particles.
oo ©885mo wastin %E‘E 3"33:%&)% JSSrddwn

4.

Question Number : 135 Question Id : 8732655270 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Using valence bond theory, predict which of the following complexes
doesnot have tetrahedral geometry
3&5{3 20 &ﬁ;oéo (Bz°80 Bod E‘éﬁaéﬁawéﬁ 9T ::Sé:lﬁ:gq:n Q%0
$DASSDoEHs.

Options :

Ni(CO)4

1. %

[Ni(CN)s]*
2.9

[NiClg]*

3. %

MnCly

4. %

Question Number : 136 Question Id : 8732655271 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :

about:blank 84/94
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The correct order of the pKa wvalues for the conjugate acids of the
heterocyclic compounds given below 1s

& (808 Dard JBh $Frre o vire Gng) pKa dwdie SO

S
é/ \\ QN / /j h
Mg W wr
| H | N
H T
I I 111 v
Options :
I>MI>1>1IV
1. ®

IV >T1>10> IV

2. %

I = | = A= |
3.9

Hrs=IW=H=>1
4. %

Question Number : 137 Question Id : 8732655272 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following has the minimum gold number?
& (8od &% 0% ﬁ's§ Sogy Bob.

Options :

Starch

LD

1. #

about:blank 85/94
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Sodium oxalate
- Fecho ©&BE
Gum Arabic
K o89E

Gelatin

2883
4.

Question Number : 138 Question Id : 8732655273 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Aryl halide 1s less reactive than alkyl halide towards nucleophilic
substitution because of

$o58Brp 08 (HEEInS” veons 88 dx7) ©w3S ek S (Bdkrded
EDADoEErE 8em0.
Options :
Large C-X (X=halide) bond energy
. C-X (X=2r88) @08 %8
Less stable carbonium ion
=EYVcho Tl S R8BS

2. %

Inductive effect
(205 (Hgrdsio

3. ®

Resonance stabilization sp? hybridization of C attached to halide

, v TEE8 a0godadd C & sp’Hosbisn BRI

Question Number : 139 Question Id : 8732655274 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 86/94
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Which of the following gives a positive idoform test?
& (Bod Q& mﬁséﬂgé 5655 ate.
Options :

1-Propanol

Lx 1-Er38S
2-Propanol

Lo 2-EHSES
Methanol

L. ESS

All of these

. 25

Question Number : 140 Question Id : 8732655275 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Perkin reaction is catalyzed by
288 S558° @ 880

Options :

NaOH
1.¥

HCI

NH4C1

3. ®

about:blank 87/94
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Pyridine
2888

Question Number : 141 Question Id : 8732655276 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hell-Volhard-Zelinsky reaction is used for the preparation of
rS-Sef -2y S8 B Kb’ Tres?
o
Options :
a-halo carboxylic acids
0-3&° 69898 wliren

1. ¢

Mono carboxylic acids
S 5269895 wilres

Dicarboxylic acids
3269895 wiliren

Hydroxyl acids
FTEgS sizw

Question Number : 142 Question Id : 8732655277 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Grignard reagent undergoes
Brnd =885 (8o LY F& .
Options :
Nucleophilic substitution
|y SBER0E B8k

about:blank 88/94
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2.¥

Question Number : 143 Question Id : 8732655278 Question Type : MCQ Option Shuffling : No Display

Nucleophilic addition
Ky B8 Jodedam

Electrophilic substitution
DBEHOE (PagHe

Electrophilic addition
&JELE,:;&E}E Sodedsn

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of peaks or signals in 'H NMR of N N!-dimethyl formanide

at 25 °C 1s

25°C &8 N.N!g2gs @*’D‘E@E 'H NMR Sw¥) BpToen Sor Hotsren

Eﬁo%

Options :

Question Number : 144 Question Id : 8732655279 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

89/94
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The amino acid synthesized by Strecker’s method using acetaldehyde 1s
©bergrh ad&@rAod (36 388 oo SoFhn Dehass oS oo
Options :
Valine

385

Alanine
oS

Leucine

- wgﬁ:S

Glycine
3OS

Question Number : 145 Question Id : 8732655280 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :

Among the following the major product obtained in the reaction below
15

éa@o&iﬂ%éEGEﬁﬂéﬁlﬁﬁrm@F

X () NaNH,

- (11) CH;Br

Options :

about:blank 90/94
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Ha
H4C C
\(\I \\CHﬁ
=
N CH;
1. ®
H
{:i\
\ CHjy
=
N CHj3
2.
\ CHy
/(I
H,C N CH,
3. %
\\ CH,
L
N* CH4
| Br
CHq
4, ®

Question Number : 146 Question Id : 8732655281 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank
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At 291K, the molar conductivities at infinite dilution of NH4Cl, NaOH
and NaCl are 150, 250 and 100 ohm™ cm? respectively. What is the
molar conductivity of NH4OH at infinite dilution at this temperature?

291K &8 NH4Cl, NaOH 8d8» NaCl o ogod DOSEw 58 =8 Irerd
rgsen $&dme 150, 250 &80k 100 ohm™ cm? =8 aP KBS 58
NH4OH &) odod OB 8 o0 (NH4OH )3rerd o588 dod?

Options :

50 ohm! em?

200 ohm! cm?

2. %

300 ohm™! cm?

3.¢

None of the above

Question Number : 147 Question Id : 8732655282 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Michaelis and Menten derived their equation using the following
assumption :
& (808 (D8FEE adT@rhod DPOT HBAD DowsS HDELEY) asBoTod.
Options :

Rate limiting step in the reaction 1s the breakdown of ES complex
to product and free enzyme

ES Softsin d3rHsn 308 (Boirado 08ckn 0B ke Be®

Aordes &%
1. ¢ .

about:blank 92/94
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2. %

The rate-limiting step in the reaction i1s the formation of ES
complex.

ES Sopfskn 28yhe Bew KJU{'_:ESE@ 11

The concentration of the substrate can be ignored.
BSrado (R(F) &) S-8d %z‘aé&oaﬂa‘iéa

Non-enzymatic degradation of the substrate is the major step
BSrzdo (RE) &) TS-20F08E dFrKdn (Hod &%

Question Number : 148 Question Id : 8732655283 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The oxidation state of Rh in (NH4)3 RhCls 1s
(NH4)3 RhCls &° Rh &%) e&)gse 28

Options :

1. ®

3.

4. %

+1

+2

+6

Question Number : 149 Question Id : 8732655284 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The O; binding efficiency of hemoglobin 1s maximum at pH
0,8 &3-S Boloh Vrsgso oy aod pH

about:blank

93/94
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Options :

1. ®

7.0

12

7.4
4.

Question Number : 150 Question Id : 8732655285 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of NMR signals observed in the following compound 1s

& (80 K}ﬁ:éﬁéoé’s NMR &o¥) Scsaren (RK)S)) Sogy

BN

Options :
3

about:blank 94/94



